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5. As shown in the picture, Ariel has three different sizes of 4
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rectangular colored paper. she wants to use the same colored [ 2 | 4

paper to form a square. Which one colored paper requires the

least number of sheets.? (A)A (B)B (C)C (D) all the same
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10. A natural number deletes its leftmost digit to get a new number. If the original number is 57
times the new number. The smallest natural number that satisfies this condition is
(A)6125 (B)7125 (C)8125 (D)9125
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15. Choose any three different numbers from 1 to 9 and form a three-digit number. What is the
sum of these three digits? (A)279720 (B)289720 (C)299720 (D)309720
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20. The photocopier outputs 90 sheets of paper per minute. If the photocopying time exceeds
30 minutes, the operation will stop for 10 minutes. Then it continues to output at the same
speed. If Bill uses this photocopier to print all the pages from 11:00 in the morning, he will
stop to print until 3:50 in the afternoon. How many sheets of paper does this photocopier
output during this period of time?(A)19400 (B)19600 (C)19800 (D)20000

<f345>

15:50-11:00=4:50

4 pF 50 A~ =290 ~

290+(30+10)=7......10

FIERBERL

90x(290—7x10)=19800 » % C -

21, % B <72 o I Bicn %52 (A)10 (B)11 (C)12 (D)13

<fzi5>

300 400
no <7

- 7*=2401_, n’ <2401

(1) < (74— n <7t

10°=1000 , 11°=1331, 12°=1728 , 13 =2197 , 14’ =2744
B4 E#EN=13>%D-

S A R(TE )

Taiwan Preliminary (Grade 7)



22. %Md%w%£m5¢udJ¢@“€’@Ewﬁﬁﬁk€ﬁ%’@ﬁwﬁ%#k€ﬁ%’@

\9}

oAl e B AT R R S ] B BV fleik s LR j\m%‘?
(A)7 (B)3 (C)9 (D)10

<fZ{7>
U"__~',’\‘,»| 7'-&1- —l:l
- T FlRKE: 575
11 21
5 - = "0 1-— V= =_
5 11\(2)(3)2><33
v goa-yaLy ol 1,234, 2.1
PR ) (0 ) 00 273735 0 10
ﬂ 1 o °
TSR EC
O
23. MR- for v FIRRRY R R R L R AL BT E e AR R () O
LA A58 55 i L )?(A)é (B); ©F D) =
(

<fE{7>

rBEE>ZA~B~C~D

FARTH CR B E=He D&z
HE B 7 4x2x1x1=8

T R,k 4x3x2x1=24

1 ,
& ¥ mz—?zg—g v i C
<¥ jz>
WL B S MR 3MER 0 £ F - BER § L TN
et =1

P EFR RSB L P BT U 12 BT & 281]}%;‘% 2 FHRE % 4od
=R ERE = fa g AT OB EZEEAB?2(A)9B)0((C)7 (D)8
<fZ{7>
12x A\=28x[_[=42x+¢ ¥ [12,28,42]=84
=7 [ =3 []=2
P 84+(7+3+2)=7> 2 % 7 i » & Co

S AR (T )

Taiwan Preliminary (Grade 7)



25. Abottle of beverage has two parts A and B. Part A is a cylinder, as
shown in the picture. Now the bottle contains some drinks. The B
height of the beverage is 20 cm when placed. The height of the
remaining part is 5 cm when it is reversed. If the volume of the
beverage bottle is 30000 cm’. What is the volume of the existing
beverage in the bottle? (A)20000 (B)22000 (C)24000 (D)26000
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